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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - I11s EXAMINATION - WINTER 2015

Subject Code: 331102 Date: 04 - 12-2015
Subject Name: DIGITAL ELECTRONICS
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q.1 (a) Explain NAND, NOR, EX-OR logic gate with symbol, operation and truth 07
table.

Ys. 1 3 NAND, NOR, EX-OR A%Ss 2 Ruollc, 3lluRet v 2 20l A 09
UMl

(b)  Write a short note on S R flip flop and D flip flop. 07

o SR sdlu U A D sellu sAU (AN 5ot cvll, 09

Q.2 (@ Explain ROM, PROM, and EPROM in detail. 07

Ud. 3 ROM, PROM, EPROM (Qotcar AHestAl, 09

(b)  Answer the following 07

(1) BA6)16 =( )2=()8=( )10
(ii) (130)10 = ( ) 16 =( )8 =( )2

ol o{lA Yoo ogcllel WU 09

(i) (3A6)16 = ( )2 =( )8 =( )IO
(i) (130)10=( )16 =( )8 =( )2
OR
(b)  Answer the following 07

(1) Explain Excess-3 code with example.
(2) Explain 1’s and 2’s complement with an example.

o ol yawu waiol W 09
(1) Excess-3 815 GELSWU A UM
() 1's WA 2’s IR GELSQL WA AU,

Q.3 (@ Simplify the following using Boolean algebra : 07
1) Y=(A+C) A’ +B)(B+C)
(2) Y=ABC +A’B + ABC’

us.3 A ofAaet Aollell Heedl [AAotlo] ALE U WL, 09

(MY = (A+C )(A + B)(B + C)

(2)Y = ABC + A’B + ABC’
(b) Explain Parity Generator and Checkers in detail. 07
o VI3 ool wal As 3 (Aatdallr AHsLAl. 09
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Simplify following function using K-map.
(1) f( A,B,C,D)=2m (1,4,6,8,9,10,11)
(2) £(A,B,C)=Zm (0,4) +d(7.3,1)

K-AUoll Heell A Aollo] ALE U L
(1) f ( AB,C,D) =Em (1,4,6,8,9,10,11)

(2) f ( A,B,C) ==m (0,4) +d(7,3,1)
Draw and Explain Decoder in detail.
SlslsR €1 U [Qolctellr AHostAl.

Perform following binary arithmetic operation:

(1) 111 x 110 = 2 (3)11011+101= 2

(2) 11111 - 1011= 2 (4) 111100 + 11100= 2

ol Asile] cllauetI] WUNEls WUR2AA 53,

(1) 111 x 110 = 2 (3) 11011 = 101 = 2
(2) 11111 = 1011= 2 (4) 111100 + 11100= 2

Draw and Explain Demultiplexer in detail.
SlHcdluAsuR €12 Ual ([Aotdalr UMl

OR
State and prove De morgon’s theorem.

SLolet (AaRM Al A Aol 3.
Draw and Explain TTL with open collector output.
TTL AU AUl sAs2R ulB2Ye €lRL wal AHHIA.

Draw and Explain Binary Ladder Network D/A convertor in detail.
w23l AsR alects D/A selci@R Rl Ua [Aotdalr UHstal.
Write a short note on Ring counter.

ot s1GeteR (AN E5etld cull

OR
Draw and Explain successive approximation A/D convertor.

AsAcl AU elR9lel A/D sota €1 Wl yHLAL.

Draw and Explain Serial In Serial Out Shift resistor.
Alact got Allac uGe ollge 2R 1R Wal UHwLA
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